NAME:

2003 CLUB DIRECTORS’ EXAM
PAPER 1 - MOVEMENTS AND SCORING

INSTRUCTIONS

¢ Write in black or blue biro.
¢ Answer all questions on the exam paper. There is additional space at the
back of the paper.
¢ You may use any reference material you wish but the paper is expected
to be your own work.
¢ Hand completed paper to Exam Supervisor at Paper 2. You should also
bring - your Law Book
- QBA Tournament Regulations
- one other piece of reference material if you wish to
¢ Ifyou would like your marked paper(s) returned please give $2 to your
exam supervisor and write your mailing address below.

ADDRESS

QUESTION ONE

Your club policy is to play as many boards as possible to a maximum of 33
per session. What movement would you use for the following number of
tables and how many boards will be played? Name one only movement for
each number of tables.

a) 12 tables

b) 11' tables




c) 10 tables

d) 12'> tables

(e) 6 tables

(f) 15 tables (1 set of boards available. Do not use 2 board rounds.)

QUESTION TWO

Round One of an evening session is nearly finished when a late pair arrive.
They are visitors who thought the session started later. Naturally you want to
make them feel welcome. What changes would you make had you started
with each of the following movements?

The total number of boards played must be between 27 and 33.

a) 10 tables set up as a Share & Relay Mitchell; 3 boards per round.

b) 4 table Howell; 4 boards per round




c) 9 tables set up as a Mitchell; 3 boards per round.

d) 12Y> tables set up as a 172 Appendix Mitchell; 3 boards per round.

QUESTION THREE

On the diagram, show how you would set up 11% Tables for a 12 Appendix
Mitchell movement playing 3 boards per round. Number tables and show
where boards start. Draw arrows to indicate how boards and players move
after Round One.




QUESTION FOUR

You are to run a 7 table event using a % Howell Movement. Eleven 3 board
rounds are required. Show the starting positions of players and boards and
draw arrows to show how each will move after the first round.

TABLE SEVEN

NS EW Boards

NS moves to

EW moves to

TABLE ONE

TABLE SIX

NS EW Boards

NS EW Boards

NS moves to

NS moves to

EW moves to

EW moves to

TABLE TWO

TABLE FIVE

NS EW Boards

NS EW Boards

NS moves to

NS moves to

EW moves to

EW moves to

TABLE THREE

TABLE FOUR

NS EW Boards

NS EW Boards

NS moves to

NS moves to

EW moves to

EW moves to




QUESTION FIVE

What difficulties arise from a manual scoring point of view when a Skip
Mitchell is used for 11 'z tables ?

QUESTION SIX

a) Supply a draw for a Round Robin Competition for 8 teams.

b) At the end of a Club Championship event using the above draw, two
teams are tied on Victory Points. All teams have played the same boards.
Prize money will be shared but the tie needs to be split to decide the
titleholders. How would you do this according to the QBA Regulations?




QUESTION SEVEN

On the diagram show starting positions of teams and boards for a 7 team
American Whist Movement. Draw arrows to show how each will move.

QUESTION EIGHT

You are running a pairs event over two weeks for 11 Tables. A Mitchell
movement playing 33 boards is used for Week 1. For Week 2, an outbreak of
flu reduces the field to 9% tables so a Share and Relay movement is used
with 30 boards. How do you calculate the winner?




QUESTION NINE

Matchpoint these boards. Make any corrections you feel entitled to make
given that you cannot contact players about apparently wrong scores.

BOARD 4 DEALER WEST ALL VUL

At Table 5, the board could not be played because Pair NS 5 overheard a
loud discussion about the board after it was played at Table 6.
Enter the scores you would award.

Tol | SRS | NS EW |Ns|EW| NS EW
1 |[3NTE9 600 |1 ]9
2 [4HW9 50 2 |2
3 [4SN9 100 | 3[4
4 [4HW 10 170 | 4 | 6
5 518
6 [3SN9 140 6 | 1
7 |4SN 10 790 713
8 |2NTE9 150 | 8 |5
9 [4SN9 100 | 9|7

CHECK TOTALS

BOARD 21 DEALER NORTH NS VUL

At Table 1 it was discovered that the board had been fouled after it had been
played at Table 5. The East West cards were in the North South pockets and
vice versa. The board is restored before going to Table 9.

Tol | SONRACT& | NS | EW | NS |EW| NS EW
1 |3NTE9 400 1 | 4
2 |5CW 10 50 216
3 |5CW 11 400 3| 8
4 |3NTE 10 430 4 |1
5 |SCN 11 600 513
6 |3NTS9 600 6 | 5
7 | 5CN 10 100 717
8 [2NTS 8 120 8 | 9
9 |4CN 11 150 9 | 2

CHECK TOTALS







